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In large reservoir, which gear is widely
used to capture carps and cat fishes ?

(1) Drag net
(2) Castnet
(3) Gill net
(4) Bagnet

Oxidation of fat is known as
(1) Rigor mortis

(2) Rancidity

(3) Elasticity

(4) Flexibility

Sewage fed aquaculture is mainly
practised in which state ?

(1) Assam

(2) Manipur

(3) Andhra Pradesh
(4) West Bengal

Which of the following is not a fresh
water oyster found in India ?

(1) Lamellidens marginalis
(2) Pareysia corrugata
(3) Hyriopsis schlegeli

(4) Lamellidens corrianus

In the ecosystem, herbivores act as
(1) Autotrops
(2) Primary consumers

3) Secondary consumers

(4) None of these
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10.

The source of plant origin protein in
supplement diet is :

(1) Rice bran
(2) Oil cake
(3) Wheat bran
(4) Barley

The typical aroma of smoked fish is
due to

(1) Phenols
(2) Ketones
(3) Acids

(4) Aldehydes

The carp spermatozoa is activated by
1) oil '
(2) Water

(3) Alcohol

(4) Glycerine

The ratio of male and female in eco-
hatchery by body mass is

(1) 2:3
@) 1:1
3 1:2
4 1:3

The recommended rate of juveniles in
monoculture of freshwater prawn
culture is

(1) 5000/ha — 10000/ha
(2) 10000/ha— 12000/ha
(3) 20000/ha —30000/ha
(4) 50000/ha —100,000/ha
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Which one is a hormone ?
(1) Tyrosine
(2) Thyroxin
(3) Tyramine
(4) Guanine

Trypsin breaks the molecule of
(1) Lipid

(2) Protein

(3) Carbohydrate

(4) Nucleic acid

On the basis of water spread area and
water holding capacity, reservoirs are
classified into

(1) 2 groups
(2) 5 groups
(3) 3 groups
(4) 4 groups

What is the size of large reservoir ?
(1) 101 -500 ha

(2) >5000 ha

(3) 1000 - 5000 ha

(4) <1000 ha

The average national yield from small
reservoir is

(1) 20 kg/ha
(2) 30 kg/ha
(3) 40 kg/ha
(4) 50 kg/ha

In subgyne
(1) Male chase behind the female
(2) Female chase behind the male
(3) Male move above the female
(4) Male and female move parallel
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The number of autosomal

chromosomes in catla are
(1) 24
(2) 30
(3) 48
(4) 44

Which of the following is not a

freshwater prawn ?

(1) Macrobrachium malcolmsonii
(2) Macrobrachium idella

(3) Penaeus monodon

(4) Macrobrachium gangaeticum

Which of the following formula is
used for calculating the Morphoedapic

Index (MEI) ?

(1) MEI=

Specific Conductivity (umho/cm.)
Mean depth

(2) MEI=

Total Dissolved Oxygen (mg./l.)
Mean depth

Total Alkalinity (mg./1.)
Mean depth

(3) MEI=

.. Total Phosphorus (mg./1.)
MEI = Mean depth

“



20.

21,

22,

23.

STeTH ey 1 IETE & :
(1) @wfgen

(2) S

(3) I

(4) TEH

TR 1 I & :
(1) TUHA ATeHIAE S
(2) aTEIHTTeET Fhifha
3) aeifem aemimE
(4) sl AETHIHTEET

= § @ = @1 g I § A
HETH ?

(1) sa@
(2) |31
(3) M=
(4) FIPH
gl & HE-11 3 foem #wE deE d
TS el B T STHI A

-1 -1
(A) wmhrer () T M
(B) wimmgrdt (i) @R
(C) watar (i) T
(D) deweart  (iv) fearen
®iS

A B C D
(1 @Gv) (@) Gi) (3G
() (i) @) @v) @

3)
“4)

(i) (i) @ @)
i Gv) (D) (i)

21,

22.

23.

Example of submerged plant
(1) Hydrila

(2) Najaj

(3) Eichornia

(4) Typha

Furunculosis is caused by

(1) Aeromonas salmonicida

(2) Cytophagapsy chrophila

(3) Renibacterium salmoninarum

(4) Vibrio salmonicida

Which one aerate the pond water ?
(1) Duck

(2) Pig

(3) Cow

(4) Poultry

Match List — I with List — II and select
correct answer by using the code given
below the lists :

List -1
(A) Herbivorous

(B) Carnivorous

List — II
(i) Grass carp
(ii) Common crap
(iii) Mrigal
(iv) Chitala

(C) Omnivorous
(D) Detritivorous
Codes :

A B C D
(M Gv) @ i) (@)
@ @) @ (v @
(@) () Gy O «Gv)
@ @O v @ (G
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Silver carp is used for the control of
(1) Microphyte

(2) Algal bloom

(3) Zooplankton

(4) Macrophyte

Sterile fish is
(1) Triploid
(2) Polyploid
(3) Diploid
(4) Tetraplid

Which of the following is not a feed
binding agent ?

(1) Agar agar
(2) Wheat flour
(3) Rice flour
(4) Rice bran

Which of the following is not a direct
cause of fish mortality ?

(1) Fishing

(2) Disease

(3) Predation

(4) Non-availability of food

Jayanti rohu is an example of
(1) Cross breeding

(2) Induced breeding

(3) Selective breeding

(4) Natural breeding
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Herbivore fishes have a
(1) Short intestine
(2) True stomach
(3) Long intestine
(4) Wide intestine

Cryopreservation temperature for fish
sperm is

(1) —196°C
2) -169°C
(3) -119°C
(4) —157°C

Which one of them is not a indirect
method for population estimation ?

(1) Regression method
(2) Age frequency method
(3) Actual count method

(4) Mark and recapture method

Culture of two or more fish species is
known as

(1) Polyculture
(2) Race-way culture
(3) Monoculture
(4) Pond culture

Jayanti rohu was developed by
(1) CMFRI

(2) CIFA

(3) CIBA

(4) RGCA
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Fry of catla feeds on
(1) Zooplankton
(2) Phytoplankton
(3) Detritus

(4) Plant matter

Dyes is mainly used for marking in

genetic studies

(1) Eggsand fry

(2) Scale

(3) Adult male and female
(4) Disease

During rigor mortis fish loses
(1) Flexibility

(2) Stiffness

(3) Protein

(4) Rancidity

In oily fish fat content is more than
(1) 4%
(2) 3%
3) 2%

4) 8%

Gonadotropins are produced by
(1) Ovary

(2) Hypothalamus

(3) Pituitary gland

(4) Blood
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Which of the following material is

used in organic aquaculture system ?
(1) NPK

(2) Manure

(3) Drugs

(4) Antibiotics

Gonochorism is defined as individuals
(D
(2)

with both sexes at the same time

which are male first and female

afterwards
(3)
4)

with separate male and female sex

which are females first and male
afterwards

Maximum  GSI  (Gonadosomatic
Index) of female Labeo rohita is

(1) 16.40
() 220
(3) 2.90
4) 10.50

After death of fish

converted into

glycogen s

(1) Acetic acid

(2) Lactic acid

(3) Hydrochloric acid
(4) Sulphuric acid
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Match List — I with List — II and select
correct answer by using the code given

below the lists :

List - I List — I
(A) Kissing (i)  Pterophyllums sp.
gouramy

(B) Guppy (ii) Helostoma
temminelci

(C) Angel fish (iii) Molliensia sp.

(D) Black molly (iv) Lebistes
reticulatus

Codes :

A B C D
() @) Gv) @ (i)
(2) (i) @@ @Gv) (311)
3 @ G @) Gv)
@) @(v) Gi) () (@)

Match List — I with List — II and select
correct answer by using the code given
below the lists :

List—1 List—1II
(A) Blucalgae (i) Chlorophyceae
(B) Diatom (i) Eugleninea
(C) Green algae (iii) Cyanophyceae
(D) Volvox (iv) Bracillariophyceae
Codes :

A B C D
() @) @G @) @
2 Gi) (v @ @@
@) @O @ (§H @)
@ @v) @ @) (@)
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Fecundity of fish is not related to
(1) Eggs sizes

(2) Gonad size

(3) Liver size

(4) Weightl of female fish

Herbicide Dicotox is effective in the

control of

(1) Azolla

(2) Algal bloom
(3) Duckweed
(4) Hydrilla

In India, cage culture in marine waters
was initiated in the year of

(1) 2005

(2) 2007

(3) 2009

(4) 2003

Which method is wused by the
extension workers to reach large

number of people ?
(1) Farm visit

(2) Organising Fairs
(3) Personal letter

(4) Home visit
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{ 49. Cryopreservation technique is used to

preserve
(1) Fish
(2) Spawn
(3) Scale
(4) Sperm

Which of the

applicable for stunted fingerlings in

following is not .

grow-out pond ?

(1) Low survival

(2) Better survival

(3) High feed utilization
(4) Better growth

Which one of these Indian major carp

is surface feeder ?

(1) Catla catla

(2) Labeo rohita

(3) Cirrhinus mrigala

(4) Labeo calbasu

Stocking density of carp fingerlings in

supper intensive fish culture is
(1) 5000 — 6000/ha.

(2) 7000 — 8000/ha.

(3) 10000 — 11000/ha.

(4) 15000 —25000/ha.
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Types of filtretion systems used in
aquarium are of

(1) two types
(2) three types
(3) four types
(4) five types

Which of the following aquarium fish
is known as Dragon fish ?

(1) Discus

(2) Angel fish

(3) Arowana

(4) Gold fish

The bubble nest builder aquarium fish
is

(1) Barb

(2) Molly

(3) Guppy

(4) Gourami

Sex reversal is very common in
(1) Sword tail

(2) Molly

(3) Gambusia

(4) Guppy

Purchase and sale of fishes like Catla
Mahaseer, Rohu and Mrigal are
prohibited under weight of following
as per the Rajasthan Fisheries Act
1958

(1) 100 gm

(2) 2000 gm

(3) 1000 gm

(4) 500 gm
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Which of the following is a live bearer
aquarium fish ?

(1) Sword tail

(2) Barb

(3) Danio

(4) Rasbora

Lentic habitat pertains to
(1) Rivers

(2) Estuaries

(3) Oceans

(4) Lakes

Scientific name of dwarf gourami is
(1) Trichogaster lalius

(2) Puntius canchorius

(3) Danio aequipinnatus

(4) Poecilia reticulata

Acidic soils are corrected by
(1) Lime

(2) Gypsum

(3) Cow dung

(4) Urea

of
Macrobrachium rosenbergii is

(1) 9
) 11
(3) 13
4) 15

Number zoeal  stages in

Infusoria is a
(1) Molluscan
(2) Protozoan
(3) Fish

(4) Crustacean
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65.

66.

67.

For the eradication of weed fishes

jaggary is used.
O 1%
(2) 3%
3) 2%

@) 4%

The types of teeth in fishes which

found other than Jaws are
(1) 3 types
(2) 4 types
(3) 2types

(4) 5types

Which aquatic weed is rich in carotens

and xanthophyll ?
(1) Hydrilla

(2) Duck weed
(3) Water hyacinth

(4) Green algae

The duck start egg laying at the age of
(1) 2 months
(2) 6 months
(3) 8 months

(4) 12 months
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68.

69.

70.

71.

72.

Super male is
(1) XX
2) XYY
3) XY
4) XYX

Oil-soap emulsion technique was
developed by

(1) CIFE
(2) CIFA
(3) CIFRI
(4) CIBA

Length weight relationship was given
by

(1) LeCem
(2) Alagaraja
(3) Fulton
(4) Pauly

The study of morphometric characters
is known as

(1) Studying hard parts
(2) Counting of scales
(3) Counting of fin rays

(4) Measurements of body and its
parts

In eutrophic water body, the mass
mortality of fish occur due to

(1) Shortage of food

(2) High level of temperature
(3) Low level of oxygen

(4) All of these
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73.

74.

i

76.

The registration of fishing boats in

Rajasthan is done by

(1) Irrigation Department
(2) Transport Department
(3) Fisheries Department

(4) PHED

According to Rajasthan Fisheries Act,

closed season for fisheries activities is
(1) 16" January — 31* March

(2) 16" February — 30" April

(3) 16" June — 31% August

(4) 16™ November — 31* January

Fish produced in the same year is

known as

(1) Year class
(2) Age group
(3) Recruitments

(4) None of these

Formula for estimation of natural

mortality of fish was given by
(1) Ricker

(2) Beverton

(3) Gullund

(4) Pauly
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i 79,

80.

between
(1) -1tol
2) 0-1
(3) 1-2
4 1-3

Dopamine antagonist present in
ovatide is

(1) Pimozide
(2) Domperidone
(3) Tamoxifen

(4) None of these

Under which rule of Rajasthan
Fisheries Act, 1953 fishing without
license is illegal ?

(1) Section—35

(2) Section—6

(3) Section—7

(4) Section—38

In which fish body sub-cylindrical up
to pelvic compressed behind, head
depressed, mouth small terminal,
dorsal fin short inserted above tip of
pectoral fin, pectoral with a strong a
strong spine and anal fin long-based is
(1) Ompok pabda

(2) Wallago attu

(3) Clarias batrachus

(4) Heteropneustes fossilis
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Which one of the following is an
essential fatty acid ?

(1) Arachidonic acid

(2) Stearic acid

(3) Palmitic acid

(4) Oleic acid

Scientific name of broad finned molly
is

(1) Molliensia latipinna

(2) Molliensia sphenops

(3) Molliensia velifera

(4) Colisa fasciatus

The ratio of soap-oil emulsion used for
eradication of aquatic insects is

(1) 18:56

(2) 56:18

(3) 66:28

(4) 28:66

Dropsy in fishes is caused by
(1) Virus

(2) Fungi

(3) Bacteria

(4) Algae

The pituitary glands are generally

stored in

(1) Glycerine
(2) Alcohol
(3) Water

4) Acid
21
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86.

87.

i 88.

89.

90.

Argulus is commonly called as
(1) Fish lice

(2) Anchor worm

(3) Leech

(4) Blood worm

A typical ectoparasite is
(1) Leech

(2) Gyrodactylus

(3) Dactylogyrus

(4) Bacteria

For installation of cage in reservoirs,

depth of water should be at least
(1) Im
(2) 2m
(3) 4m
(4) 6m

Spirulina sp. is a
(1) Bacteria

(2) Blue algae

(3) Brown algae
(4) Cyanobacteria

Fin rot disease is caused by
(1) Bacteria

(2) Virus

(3) Salmonella

(4) Fungi
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| 92.

93.

94.

95.

Optimum
hatching IMC egg 1s
(1) 20-24°C
(2) 10-15°C
(3) 26-30°C
(4) 15-20°C

temperature range for

In which year freshwater pearl was
produced by CIFA ? )
(1) 1957
(2) 1967
(3) 1977
(4) 1987

In inland cage culture, fry is fed at

(1) 2-3% of body weight once a day
(2) 4-5% of body weight once a day
(3) 2-3% of body weight twice a day

(4) 4-5% of body weight twice a day

Which of the following is not a type of
stowage ?

(1) Bulking

(2) Shelving

(3) Boxing

(4) Washing

Breeding season of Catla Catla is
(1) June to August
(2) January to March
(3) October to December
(4) April to May
21
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Dissolved oxygen attains the highest
level in pond at

(1) 15:00 hrs.
(2) 06:00 hrs.
(3) 09:00 hrs.
(4) 07:00 hrs.

Lesser water boatman (Corixa) is a/an
(1) Aquatic insect

(2) Fish spawn

(3) Weed fish

(4) Aquatic plant

The number of barbells in Ompok
pabda is

1 2
2) 4
(3) 6
(4) 8

In which of the following fish deep
body, head enormous, mouth wide and
upturned, scales large, pectoral fin
large and caudal fin forked ?

(1) Catla

(2) Rohu

(3) Silver carp
(4) Common carp

The maximum fish production is
obtained from

(1) Polyculture
(2) Intensive culture
(3) Semi-intensive culture

(4) Extensive culture
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